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A person bought an article for Rs.300 and sold
if for Rs.320 then his gain percentage is

n 6% 26), 315 4 2

Solution:
Answer -1
300 — 20
15(Den)  1(Num)
1 20,
..Exmo_?_aé%
59. e oeif) YIeboed sodl Fabogo 4.45
oo Fcholgo 6.20 Honek 800 b8

S0, 6l 83 IGO0 oSy KEDS S

Satwika went to her friends house at 4.45 PM
and she came back to home at 6.20PM then,
the time she spent at her friend’s house is ...
1) 2 hours 25 min 2) 2 hours 15 min
3) 1 hour25 min 4) 1 hour 35 min
Solution:
Answer -4

4:45 10 6:20 = 15mm + lhr + 20min
= lhr35min

60. Tos i Bostren3 Y % b
ey e G 200 vl Too iy (Erned
The simple interest on a certain sum for 8
years st3%% is Rs.200. Then the toal

amount is (in rupees)

1) 550 2) 750  3) 950 4) 1050
6L If5a-2,5a+4 _ coceowB aDend ?

1 1 2) 2 )3 4 4
62, (5'%2")+6" e

D Yo D% 3% s e

63. 241000000 HSoypy EnE) (FSrSY Srdse

(Standard form)
1) 241x10° 2) 241x10°
3) 241107 4) 241x10°

64. 13 Hbdk» 14o Soro i) aod dogge Sowy
The no.of Numbers lies between the squares
of the numbers 13 and 14 are
1) 24 2) 25 3) 26

65. Sorodo Tl eriretiiin
Mode of the data is 10,12,14,10,12,16,12,10
1) 12 2) 10
3) 12orl0 4) 12 bass 10

Solution:

Answer -4
10 Smeoard, 12 SmOarg Sob. s=9d
ersFotigo 10 bk 12 sy,

66. i) Sy Digred® Sigw
The bars in a bar graph have

) 1) =8 PEHH S0A o (Same length)

2) &8 Bfend 5OA dothib(Same breadth)
3) =3 Fereo S0A éothio(Same area)
4) oB HipFeodHEOR dothib. Same parimeter)

67. 25 20% &S & o Sz F°9, &r.1600
BRoTh. Sw Gwl) (H588 Do (Grrdbed®)
Siva bought a shirt at 20% discount and paid
Rs.1600. Then the market price of the shirt is
(in Rs.)
1) 1800

Solution:

Answer -3

4) 27

2) 1920 3) 2000 4) 2200

80% — 1600
100% — 2
20
- 100x3668 _ 5 500Rs.

68. 365 o seSaroTre Sogy
The number of factors of 36 is
1) 6 2) 7 3) 8
Solution:
Answer -4
Fx2’
S(2+1)(2+41)=3%3=9
69. (Bod 8E° Behuo EwY) Sre Fodeo 820,
One of the following is not the angles of a
triangle
1y 90° 20° 70° 2) 83°,70°.27°
3) 67°51°62° 4) 40°,135°18°
40+132+18=190" 57555 2 8¢be: Foden 9
70. o HE BEH 22m el TR T (R0.D.08)
Circumference of a circle is 22cm then its
diameter is (in cm)
1y 3.5 2) 14
Solution:
Answer -4
2nr=22

:£d=32
7

4) 9

3) 1l 4 7

(w2r=d)

=>|d=7
71. 5%{»50 oo Gw) u=bo
The shape of the face of a cuboid is
1. (|®zbeso) Triangle
2. (BySdio) Rectangle
3. (o) Circle
4. {epgﬁz)éﬁn) Semi circle
72, (Bol nbwds damed® DB,
Which of the following smallest fraction.

D Yo 2% 9% 0

8. Y. 1 Y esshas sopes et
(Ascending order)

D Yo HoZs
2 ) JsHods
y Notsho)s
9 Ho)s s )

74. a<b,b<c¢=a<cwdid.
L olge $Ge (Transitivity)
2 %"g‘é g0 (Symetry)
3. DBovdss tjtﬁ&o Reflexive)
4. ef (Al
75, 586" 11 38 DFkore erhdoah; Sogy

Which of the following number is divisible by
11

1) 59875565
3) 58976555

2) 58795655
4) 55896755

76. 3'E'E=iﬂﬁ‘ﬂﬂ=?¢3a:IJ:1:=
b 5S¢ 7
1) 12:20:21 2) 12:20:35
3) 20:12:21 4) 20:21:35

77, a:b=5:9 508w bie=4:7 woni athie Dexdd
1) 5:4:7 2) 5:36:28
3) 20:36:35 4) 20:36:63

8. EEmER 5 Swoth 25% BON SO 25% BNS6.

wand L3 oo S5E° BhhEe o iiﬁgcﬁu

B, 2,805

79.

81

87.

The price of
and afterwards it is decreased by 25% find
overall percentage change

tomoto is increased by 25%

1) 6.25% Bokoise
3) 50% Srpse

2) 6.25% $rjto
1) S

p[ 14+ ":6057 R s58
100 .

1) eden (Principal) 2) =eeo(Time)
3) Sgsdsh
4) éééea)(Rme of Intrest)

AABC&® ZA=30°/B=60°wond /C
Dens

1y 300 2) 90" 3) 60° 4) 45°
-4 52‘&0@5‘506‘ 4ol woibe '.-’:oaaé
Number of edges of cuboid

1) 6 2)8 3) 10 4) 12

2.8 oo HolD woiben, Soplnen ;’:oaﬁ Flatrty o
No.of edges and faces of cube

1) 86 2) 6,12 3) 8,12 4)
(Bob 8% L858 (Frrddon aé....

12,6

One of the following pairs is a co-prime.

1) 149 2) 912  3) 2721 4) 14,16
0.5 Behecd®D SFodoe 258 1:27

wond © (Bgheis ......

If the angles of a triangle are in the ratio 1:2:7,
then the triangleis.....

1) Anacute angled triangle

2) Anobtuse angled triangle

3) aright angled triangle

4) anequilateral triangle

1) wes @b 2) ©b &% |Bbao
3) woat’s @ghmo  4) Hiserdw (@dbeo

8,10,21 &3 grhodm S%%me 5,7 S0dks 18w
s é;ﬁ B8 Hogg ...
The least number that leaves the remainders

5,7 and 18 when divided by 8,10 and 21
respectively is ....

1) 840 2) 837  3) 873 4) 804
4 4 2
1-—+—=0oud— Db
X X X
1 1 20 3 - 1
) - ) ) ) 3

Which one of the following pairs is in
proportion?

89,

&53%3 - 5503‘55(0

ShIrgeh e & Do aTo.
a) 4 tobod &=.60

b) 8 tiobe% =100

c) 24 Hobed 8.260

d) 12 foteS 5x.180

(B0 =08 whFEod® Y ed.
1) a)andb) 2) a)and¢)
3) b)andc) 4) a)and d)

o8 ol G fobsosrets 1,728 . 30.5,
woans 0 thedn (bo.d,.off)

If the volume of a cube is 1,728 cu.cms., then
its side (in cms) is ...

1) 14 2) 12 3) 13 4 16

P=4x"+y —6xy,Q=3y" +12x" +8xy,

R=06x"+8y’ +6xywond (P-Q)-R &
HEPETa.

1) 9" —7y" +18xy

2) —14x° =10y’ - 20xy

3) 657 =20y + 24xy

4) x* -y’ —15xy

o (Bbuo G rrimBnis 125 S8k 0
sodTPing Foren 2:3 088" ) eoo &
Fadin (G|fed’)

If one of the exterior angle of a triangle is
125" and the interior opposite angles are in
the ratio 2:3 then one of the angle is (in
degrees)
1) 40 2199

3) 75 4) 80

NOR 23026 30, @5:335 7 3685,
Sty P5osR08 HHpR0e88 8od

SSmgearen S50 K.
1-1 2-4 3-3 4-2
5-1 6-4 7-2 8-4
9-1 10-3 11-4 12-1
13-3 14-2 15-3 16-1
17-4 18-3 19-3 20-2
21-4 22-1 23-4 24-1
25-2 26-1 27-3 28-4
29-2 30-2 31-3 32-4
33-3 34-3 35-2 36-4
37-1 38-2 39-3 40-4
41-2 42-3 43-2 44-4
45-3 46-3 47-1 48-3
19-4 50-3 51-1 52-3
53-2 54-3 55-4 56-4
57-3 58-1 59-4 60-2
61-1 62-2 63-2 64-3
65-4 66-2 67-3 68-4
69-4 70-4 71-2 72-1
13-4 74-1 75-3 76-2
T7-4 78-2 79-4 80-2
81-4 82-4 83-1 84-2
85-2 86-3 87-4 88-2
89-2 90-3
DY 8Hoes
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